MIAM I-DADE' MIAMI-DADE COUNTY, FLORIDA
| : METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION : MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Andersen Corporation
100 Fourth Avenue North
Bayport, MN 55003-1096

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Series “Frenchwood Hinged AP/PA” Outswing Wood French Door

APPROVAL DOCUMENT: Drawing No. DADE-FWO-AP-Impact, titled “Unit Assembly — Impact FWO AP
2 Panel”, sheets 1 through 4 of 4, dated 05/05/00 with revision B dated 01/17/01, prepared by the manufacturer,
bearing the Miami-Dade County Product Control Renewal stamp with the Notice of Acceptance number and
expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 00-1011.04 and consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Manuel Perez, P.E.

NOA No 03-0415.15

Expiration Date: October 5, 2008
Approval Date: May 22, 2003
Page 1




Andersen Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED
(For File ONLY. Not part of NOA)

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No. DADE-FWO-AP-Impact, titled “Unit Assembly — Impact FWO
AP 2 Panel”, sheets 1 through 4 of 4, dated 05/05/00 with revision on 01/17/01,
prepared by the manufacturer.

B. TESTS
Submitted under NOA #00-1011.04
1. Test reports on 1) Large Missile Impact Test per FBC, TAS 201-94
2) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawing of a wood French door, prepared by Architectural
Testing Inc. Test Report No. ATI-02-32062.01, dated 05/05/00 along with revised
marked-up drawings, signed and sealed by Allen N. Reeves, P.E.
Submitted under NOA #00-0605.01
2. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC,TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with installation diagram of door prepared by Architectural Testing Inc.,
Report No. 02-31994.01, dated 01/25/00, tested on 01/04/00, signed and sealed by
Allen Reeves, P.E.

C. CALCULATIONS
1. Anchor calculations and structural analysis dated April 9, 2003.
Submitted under NOA #00-1011.04
2. Anchor calculations and structural analysis prepared by Richard Boyette, P.E, for
Andersen Corporation, dated April 24, 2000, signed and sealed by Richard
Boyette, P.E.

D. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 98-0608.03 issued to E.I. DuPont DeNemours for
“Sentry Glass Plus” dated 01/14/99, expiring on 01/14/02.
2. Notice of Acceptance No. 01-0205.02 issued to Solutia Inc. for their “Saflex
/Keepsafe Maximum” dated 05/17/01, expiring on 05/21/06.

NOA No 03-0415.15
Expiration Date: October 5, 2008
Approval Date: May 22, 2003



Andersen Corporation

NOTICE OF ACCEPTANCE:  EVIDENCE SUBMITTED
(For File ONLY. Not part of NOA)

E. STATEMENTS

1. Statement letter of no change, issued by Andersen Corporation, signed by Sharon
Melvin, dated 4/10/03.
F. OTHER

1. Notice of Acceptance No. 00-1011.04 for Andersen Corporation, Series
“Frenchwood Hinged AP/PA” Outswing Wood French Door, approved on
05/31/01 and expiring on 10/05/03.

tastaadl e

" Manuel Perez, P.E
Product Control Exa a
NOA No 03-0415.15

Expiration Date: October 5, 2008
Approval Date: May 22, 2003




35.625 MA%, ——-————1

APPLY BOLTS TO

PASSIVE PANEL ONLY
10.000 —a—— 10.000
- wax. A 1 wax. T
] 1 1 !
8.000"
[ MAX.
A
/
/
/
/
/
/
/
/
- // / 33.0007
/ 0.C. MAX
/
/
/
B / B
/I
/ . {
/
/ | IR
- ' 4.537 4
N o [l /
N FWO-60611 82.313
\|  AcTIvE pangL i PASSIVE PANEL 1/ i ONIT
\ / HEIGHT
\ /
\ y /
AN /
\ / I I
- \ 4
\ /
\ /
\ 6668 17.000° 0.C.
\ / MAX. TYP
\ / BOTH SIDES
\ /
\ -1 :
-~ ey / !
/ N N\ 7 8.000"
; | \ MAX.
( o\ 7.000"
| A MAX.
\ ki
~ —~— A
33.750 MAX. PANEL WIDTH
71.250 MAX. UNIT WIDTH
NOTES:

1.

INSTALLATION METHODS:

THE LOCK KEEPERS AND ARE LOCATED ONE PER TOP AND BOTTOMW KEEPER, AND TWO PER MIDSPAN KEEPER.

MASSONARY:

. GLAZING SPECIFICATIONS:
HEAT STRENGTHENED: THE UNITS UTLIZE 3/8° THICK -LAMINATED GLASS FABRICATED AND COMPOSED OF-TWO

VIEWED FROM EXTERIOR

APPLY BOLTS TO

T
|

PASSIVE PANEL ONLY
e 10.000
A —
i

T

b

i

=T

/

8.060"
MAX,

27.000"
0.C.

.
re

ACTIVE PANEL

O O

oo —

_._CP__qg_._

e

e

—
4.537

FWO—6080 /

PASSIVE PANEL |/

e—1 T

11

14.000° O.C.
MAX. TYP
BOTH SIDES

FWO-60611 +60/~-64
FWO-54611 +60/~64
FWO-50611 +60/-64
FWO— 41611 +60/-64
FWO-6068 +60/-64
FWQ-5468 +60/-64
FWO-5068 +60/-64
FWO—-4168 +60/-64
UNIT DP RATINGS
DES. (PSF)

~

33.750 MAX. PANEL WIDTH

71.250 MAX. UNIT WIDTH

<—!A

VIEWED FROM EXTERIOR

WOOD BUCK: THE SILL IS SET IN BACKBEDDING, THE HEAD IS SECURED IN THE ROUGH OPENING USING §10 X 3° SCREWS. THE JAMBS ARE SECURED USING #10 X 3° SCREWS. FOUR #10 X 3" SCREWS ARE FASTENED THROUGH

NOMINAL §/32" HEAT-STRENGTHENED SHEETS WITH A .D0 PVB GRAY OR CLEAR INNER LAYER MANUFACTURED BY DUPONT OR SOLUTIA.

ANNEALED: THE UNITS UTILIZE 17/32" (.532)NOMINAL THICK LAMINATED GLASS FABRICATED AND COMPOSED OF TWO NDMINAL 7/32° ANNEALED SHEETS WITH A .090° PVB GRAY OR CLEAR INNER LAYER MANUFACTURED BY DUPONT OR SOLUTIA

GLAZING METHOD;

THE GLASS IS SET FROM THE INTERIOR AGAINST A ONE OR TWO COMPONENT BED OF SILICONE. A TWO COMPONENT SILICONE BACKFILL WAS APPLIED TO THE INTERIOR

PERIMETER, WITH WOOD STOPS UTILIZED ON THE INTERIOR.

. FRAME CONSTRUCTION:

FRAME JAMBS AND HEAD CONSISTED OF PONDEROSA PINE WITH PULTRUDED EXTERIOR CLADDING: THE SILL CONSISTED OF AN ALUMINUM AND PYC ASSEMBLY, WCOD CORNERS WERE COPED, BUTTED AND FASTENED WITH FOUR
§10 X 2-1/2" LONG SCREWS PER HEAD JAMB CORNER AND FOUR §10 X 2-1/2" LONG SCREWS PER SILL JAMB CORNER, AND WERE SEALED WITH SILICONE. THE EXTERIOR PULTRUDED CLADDING CORNERS WERE MITER CUT AT

THE HEAD, ASSEMBLED WITH CORNER KEY AND TWO #6 X 0.625 SCREWS. SEALED WITH SILICONE AND COPED AT THE SILL.
. PANEL CONSTRUCTION:

THE PANEL RAILS CONSISTED OF PONDEROSA PINE WITH THE STILES BEING AN LVL COMPOSITE AND CONTAINEO BLIND MORTISE~AND-TENON, DOWELED AND GLUED CORNER CONSTRUCTION.

A PULTRUDED ASTRAGAL WAS SECURED TO THE EXTERIOR OF THE ACTIVE PANEL MEETING STILE WITH SILICONE AND SCREWS.

. WEATHERSTRIPPING:

ONE ROW ‘OF SANTOPRENE BULB AT THE PERIMETER OF THE PANEL.

© AND TWO #10 X 5° SCREWS INTO THE TOP AND BOTTOM STILE/RAIL JOINT (ONE PER HINGE SIDE JOINT). A PULTRUDED DRIP CAP WAS USED ON THE BOTTOM OF EACH PANEL.

8.000"

6.000 MAX.

MAX,

MAX.

95.438

. UNIT

HEIGHT

PRODUCT RENEWED
as complying with the Florida
Buiding Code

Acseptance No 09-04]5. 15
Expiration Date QCT. 5, Z008

ade Preduct Contro

FWO-6080
FW0-5480

+60/~55
+60/-55

FW0-5080
FWO-4180
UNIT
DES.

+60/-55
+60/-55
DP RATINGS
(PSF)

APPROVED AS COMPLYING WITH THE

SOUTH A BUILDING CODE
one. MY l/éﬁ(ﬁ

BUILDING CODE COMPLIANCE OFTICE
ACCERTANCEND DO - (011. 0¥

TIRE

UNIT, ASSEMBLY - IMPACT
FWO AP 2 PANEL

B[1/17/01

Andersen Corporction
Bayport, Minnesota 55003

THESE DRAWINGS ARC PROVI
BENEFIT OF ITS CUSTOMERS.
SPECIFICATIONS, DRAW

ORAN

COPYRICHT ANDERSEN CORPORATION 1998,

0ED

. FINAL RESPONSI|
NGS AND FOR THE ACTU
INGS LIES WITH THE ARCHITECT,

N4

ANOERSEN CORPORATION FOR THE

BILITY FOR ACCURAG

AL INSTALLATIGN SUGGESTEQ BY THESE
AND/OR

AS A SERVICE BY

AL RIGHTS RESERVED.

Y _OF DESIGH, FINAL

Al 5/5/00

REVISION

APPROVE /DATE

1/17/0%

DRAWING NUMBER

st 1 o 4

DADE-FWO-AP-IMPACT




FWO- 60BO 71,250 95,438 38 RECEIVER BASKET, SILL PA/HEAD AP 57079 STEEL 0.998 8.794 BEAD SILICONE ATTACHMENT OF SILL TO ROUGH OPENING
FWO—5480 63.250 05.438 37 RECEIVER BASKET, SILL AP/HEAD PA 57078 STEEL 0.998 8.794 BEAD SILICONE ATTACHMENT OF HEAD TO SIDE JAMBS
FWO-5080 59.250 95.438 36 ASTRAGAL, ACTIVE 57004 FIBERGLASS FRP] _ 1.736 2.322 BEAD SILICONE ATTACHMENT OF SILL 7O SIDE JAMBS
FWO-4180 48.000 95.438 35 ASTRAGAL, PASSIVE 57074 FIBERGLASS FRP| _ 3.621 3.269 4 SCREWS, 8 X 172 ATTACHMENT OF SILL LOCK T0 SILL & SIDE JAMBS
FWO-60611 71.250 82.313 34 DOWEL, FLUTED 5.000° 52190 BIRCH 5.000 0.438 2 SCREWS, #6 X 5/8° ATTACHMENT OF CORNER LOCKS TO HEAD & SIDE JAMBS
FWO-54611 63.250 82.313 33 DOWEL, FLUTED 6.500" 52190 BIRCH 6.500 0.438 12-16 SCREWS, §8 X 5/8 ATTACHMENT OF HINGE SUPPORT PLATE TO FRAME
FWO-50611 59.250 82.313 32 LOCK MECHANISUM, (PASSIVE) 52451 STEEL - - 12-16 SCREWS, §#10 X 1/2 ATTACHMENT, OF HINGES TO FRAME
FWO- 41611 48.000 82.313 31 LOCK MECHANISUM, (ACTIVE) 52104 STEEL - — 2 SCREWS, #10 X T ATTACHMENT OF LAICH RECEIVER 10 FRAME (HEAD)
FWO-6068 71.250 79.438 30 BARREL BOLY, FLUSHMOUNT 57086 — STEEL 4.625 1.600 8 SCREWS J10 X 2-172" ATTACHMENT OF HEAD JAMB 10 SIDE JAMB
FW0-5468 63.250 79.438 29 STOP, GLAZING STILE 51196 PONDEROSA PINE] _ 0.870 0.875 8 SCREWS 10 X 2-1/2" ATTACHMENT OF SILL TO SIDE JAMB
FWO—-5068 59.250 79.438 28 STOP, GLAZING RAIL 51195 PONDEROSA PINE| _ 0.870 0.875 SNAP SNAP FIT ATTACHMENT OF SIDE JAMB GOVER 10 SIDE JAMB
FWD~4168 48.000 79.438 27 SCREW, #10 X 3.000" PKD0O170 STEEL 3.000 0.148 SNAP SNAP FIT ATTACHMENT OF HEAD JAMB COVER TO HEAD JAMB
‘;’;157 WIDTH HEIGHT 26 SPACER, 1.000" GLASS gggg? PONDE‘QS& S g-z;g ?';gg arv. DESCRIPTION LOCATION
UNIT_DIMENSIONS 25 PANEL. STOP HEAD PA 57080 FONDEROSA PINE| _ 0.679 1.500 FRAME FASTENERS LIST
24 PANEL, STOP SIOE 57041 PONDEROSA PINEl _ 0.679 1.500
23 SEALANT MDS0012/42 SILICONE - -
FWO-3180 33.750 94.068 22 WATERBAR, T0P RAIL 57046 POLYPROPYLENE | _ 0.480 0.450 BEAD SILICONE ATTACHMENT OF FILLER 1O STILE
TWO—2980 29.750 94.069 21 NAIL, 1.500° X 18 CA. 20093 STEEL GALV. 1.500 049 30 |SIAPLE, 3/4 STAINLESS SIEEL ATTACHMENT OF FILLER 10 STILE
TWO—2780 27.750 94.069 20 SEALANT MDS0012/33 SILICONE - - 3 |SCREW, 6-20 X 1" (PN FL $5) ATTAGHMENT OF TOP RAIL FILLER
FWO=2180 22.125 94.069 19 FILLER, RAIL TOP 57012 FIBERGLASS 1.644 1.572 3 |SCREW, 6-20 X 1" (PN FL 55) ATIACHMENT OF BOTTOM RAIL FILLER
FWO-3180 33.750 BG:944 18 FILLER, RAIL BOTIOM 57011 FIBERGLASS 1.644 1,952 BEAD ADHESIVE ATTACHMENT OF TOP RAIL 7O STILES
TWO-2980 29.750 80.944 17 FILLER, LOCK STILE 57010 FIBERGLASS 1.118 0.688 BEAD ADHESIVE ATTACHMENT OF BOTIOM RAIL 10 STILES
FW0-2780 27.750 80.944 16 FILLER, HINGE STILE 57009 FIBERGLASS 1118 1.609 B-10 NAIL, 1-1/2 ATIACHMENT OF INSDIE GLASS STOPS 10 PANEL
FWO-2180 22.125 80.944 15 W/S, GASKET 57172 SANTOPRENE - _ ) NAIL, 1-1/2" ATTACHMENT OF INSIDE HEAD & SILL GLASS STOPS T0 PANEL
FWO-3180 33.750 78.069 14 RAIL, TOP 52171 PONDERQSA PINE| _ 4.438 1.719 13-14 SCREWS, #8 X 7 ATTACHMENT OF LOCK MECHANIGM 7O PANEL
FWO—2080 29.750 78.069 13 RAIL, BOTIOM 52173 FONDEROSA PINE| _ B.594 1.719 6-8 SCREWS §10 X 1-1/2" ATTACHMENT OF HINGES 10 PANEL
FWO—2780 27.750 78.069 12 STILE, HINGE 57022 PONDEROSA PINE|  4.113 1.719 2 SCREWS §10 X & ATTACHMENT OF RAILS T0 STILES
fWO-2180 32.125 76.069 11 STILE, LOCK 57023 PONDEROSA PINE| _ 4.113 1.719 2 DOWEL, FLUTED 6.500" ATTACHMENT OF BOTTOM RAIL 70 STILES
PANEL — HEIGHT 10 GLASS, LAMINATED 04170 - - - 2 DOWEL, FLUTED 5.000° ATTACHMENT OF TOP RAIL 10 STILES
DES. 9 FLANGE, HEAD 16073 VINYL 2.166 0.394 ar DESCRIPTION LOCATION
PANEL DIMENSIONS 8 FLANGE, SIDE 16073 VINTL 2.166 0.394 :
7 SEALANT MDS0034/35/36] __ SILICONE - - PANEL FASTENERS LIST — ACTIVE PANEL
3 HINGE_ASSEMBLY 57049750 ZINC_STEEL = -
5 SILL_ASSEMBLY 57027 VINYL/ALU 1.147 5.265
4 JAMB, SIDE 57019 ONDEROSA PINE]  1.234 4.207 2 SCREW, #8 X 1-1/7 SIEEL ATTACHMENT OF BARREL BOLTS 10 PANEL
3 COVER, JAMB SIDE 57031 fIBERGLASS 1.210 2.911 2 SCREW, 7-13 X 7/8 ATTACHMENT OF BRACKET 10 STILE
2 JANB, HEAD 57018 FONDEROSA PINE|  1.234 4.202 2 SCREW, 10-12 X 2=1/2° ATTACHMENT OF PASGIVE ASTRAGAL TO STILE
1 COVER, JAMB HEAD 57030 FIBERGLASS 1.210 2911 3 SCREW, 10-12 X 3-1/2 ATTACHMENT OF PASSIVE ASTRAGAL TO STILE
TTEM BEAD SILICONE ATTACHMENT OF PASSIVE ASTRAGAL 10 STILE
NO. DESCRIPTION PART MATERIAL HEIGHT WIDTH BEAD SILICONE ATTACHMENT OF FILLER TO STILE
DRAWING REFERANCE LIST 20 |SIAPLE, 3/4 STAINLESS STEEL ATTACHMENT OF FILLER T0 STILE
3 |SCREW, 6-20 X 1° (PN FL SS) ATIACHMENT OF TOP RAIL FILLER
ALL PARTS MANUFACTURED TO ANDERSEN SPECIFICATION 3 SCREW, 6-20 X 1" (PN FL SS) ATTACHMENT OF BOTTOM RAIL FILLER
AS NOTED BY ABOVE PART NUMBERS BEAD ADHESIVE ATTACHMENT OF TOP RAIL T0 STILES
: BEAD ADHESIVE ATTACHMENT OF BOTIOM RAIL 10 STILES
FWO-6080 7 7 7 8-10 NAIL, 1-1/2" ATTACHMENT OF INSDIE GLASS STOPS TO PANEL
FWO-5480 7 7 7 2 NAIL, 1-1/2 ATIACHMENT OF INSIDE HEAD & SILL GLASS STOPS TO PANEL
FWO—5080 7 7 7 13-14 SCREWS, #8 X 7. ATTACHMENT OF LOCK MECHANISM TO PANEL
FWO-4180 7 7 7 6-8 SCREWS §10 X 1-1/7 ATTACHMENT OF HINGES 10 PANEL
FWO-60611 7 5 5 3 SCREWS §10 X 5 ATTACHMENT OF RAILS 10 STILES
FWO-54611 7 5 5 2 DOWEL, FLUTED 6.500" ATTACHMENT _OF BGTTOM RAIL 10 STILES
(TN FWO-50611 7 5 5 2 DOWEL, FLUTED 5.000" ATTACHMENT OF TOP RAIL TQ STILES
FHO~41611 ? 5 5 Q. DESCRIPTION LOCATION
FWO- 6068 7 5 5
FWO-5468 7 5 B PANEL FASTENERS LIST — PASSIVE PANEL
FWO-5068 7 5 5
TWO-4168 7 5 5 . \
onLT § OF SCREWS|§ OF SCREWS|§ OF SCREWS PROBUCT RENEWED APPROVED AS COMPLYING WITH THE
THROUGH THROUGH THROUGH as complying with the Florida
DES. HEAD JAMB | RIGHT JAMB | LEFT JAMB Buiding Code
Aceeptance No)3-0415, |15

]

Explration Date OXC" 2008

DOWELS LOCATED ON
ALL FOUR CORNERS o
OF EACH PANEL

BUILDING CODE COMPLIANGE OFFICE
ACCEPTANCENQ.D-BO11 .oy

d

TIE

IMPACT

UNIT, ASSEMBLY -

FWO AP 2 PANEL
DETAIL -A-

SCALE: NONE

Andersen Corporation N2
Bayport, Minneso(ap55003 N‘VA

THESE ORAWINGS ARC PROVIDID AS A SERVICE BY ANOERSEN CORPORATION FOR THE
BENCFIT Of ITS CUSTOMERS, FINAL RESPONSIBILITY FOR ACCURACY OF DESIGH, FINAL
SPECIFICATIONS, ORAWINGS AND FOR THE ACTUAL INSTALLATION SUGGESTED 8Y THESE
DRAWINGS LICS wiTH THE ARCHITECT, ENGINEER AND/OR CONTRACTOR.

8] 1/17/01 COPYRIGHT ANDCRSEN CORPORATION 1998. AL RIGHTS RESERVED.
Al 5/5/00 APPROVE /OATE DRAWING NUMBER
REVISION 117/00

DADE ~FWO ~AP~IMPACT

s, 2 o 4




2" X 6" SPF
#2 WOOD BUCK

|

7
/

37138

T
MIN. EMBEDMENT
1.430" (7 DIAMETERS)
(2)PL.
]

95.438 MAX.
UNIT HEIGHT

94.069

PANEL HEIGHT

80.562 MAX.
GLASS
DIMENSION

79.500 MAX.
DAYLIGHT
COPENING

» l

| TR

YR
1 @)

EXTERIOR

INTERIOR

T

! @

/.

A
9%

/
: \.
‘

e

®

e QR [P

()
B
|PROO)

T F

174" Max. |
SHIM SPACE

SECTION A-A

\Z\/B' MIN. SILICONE BEAD

FULL LENGTH OF SILL

f

2" X 6" SPF
f2 wOOD BUCK

— }—.0%0 PVB

—H j— 7/32° ANNEALED
7/32 ANNEALED —~} 1

T

@) (10
29)

563
GLASS BITE

7 7w

NANANNS

17/32" ANNEALED LAMINATED
GLASS CONSTRUCTION

PRODUCT RENEWER

&s complying with the Fi
Buiding Code orida

Acceptance No ‘_Q_,Z:_Q_Aig_
A 45

Ypiration Date (9

— {=—-.090 PVB

5/32" HEAT

5/32" HEAT _ 1| STRENGTHENED

STRENGTHENED

© (10)
@0)

~ T
.
<.
~a
~

.563
GLASS BITE

o7

NANANS

3/8" HEAT STRENGTHENED LAMINATED
GLASS CONSTRUCTION

Bl 1/17/01

FWO-6080 B80.562 79.500 95,438
FW0O-5480 80.562 79.500 95,438
FWO-5080 80.562 79.500 95.438
FW0O-4180 80.562 79.500 95.438
FW0O-60611 67.437 66.375 82.313
FWO~54611 67.437 66.375 82.313
FWO—-50611 67.437 66.375 82.313
FWO—-41611 67.437 66.375 82.313
FWO-6068 64.562 63.500 79.438
FWO-5468 64.562 63.500 79.438
FWO-5068 64,562 63.500 79.438
FW0-4168 64.562 63.500 79.438
UNIT GLASS DAYLIGHT UNIT
DES. DIMENSION OPENING DIMENSION
A l%}:n A AMSAIIE AR AT T
el i A\YA' 4™ "AaT"A A U TIEIAL" S A LR AR RS R E]™
SOUTH FH)&?A §UI‘DI
DATE
BY '
PROD
BUILDING CODE COMPLIANCE OFFICE
o1f.
ACCEPTANCENO 09~ (01l 0y
TITLE

UNIT, ASSEMBLY — IMPACT
FWO AP 2 PANEL

Andersen Corporotnon
Bayport, Minnesota 55003
THESE DRAWINGS ARC PROVIOED AS A SERVICE BY ANDERSEN CORPORATION FOR THE
EFIT Of 1TS CUSTOMERS. NAL RESPONSIBILITY FOR ACCURACY OF DESIGN, FINAL
HE ACTUAL INSTALLATION SUGGESIED 8Y THESE
ORAWINGS LIES WITH THE ARCHITECT, ENGINEER AND/OR CONTRACTGR,

COPYRIGHT ANDERSEN CORPORATION 1998, AL RIGHTS RESERVED.

Al 5/5/00

REVISION

APPROVE /DATC

1/17/01
sil. 3 of 4

DRAWING NUMBER

DADE ~FWO—AP—IMPACT




MIN. EMBEDMENT ’ MIN, EMBEDMENT

1.430" (7 DIAMETERS) 1.430" (7 DIAMETERS)
(2)PL. (2)PL.
- 1/4" MAX. ] 1/4" MAX. L
T SHIM SPACE SHIM SPACE |
» X & SPF 2" X 6" SPF
2 WOOD BUYCK 2 WOOD BUCK |
e SECTION B-B ¢ ° N

1

JL/

'\ Z
: INTERIOR N
N
"’J
vav o T T 7T Z T,

Ao |
Yo o4l ' w S= HE 5 =57 A
_ T

| 24.875 MAX. |
DAYLIGHT OPENING

l— 26.000 MAX. GLASS DIMENSION ——i 33.750 MAX. PANEL WIOTH

71.250 MAX. UNIT WIDIH
APPROVED AS COMPLYING WITH THE
SOUTH Fﬁ)&?A BUILDING CODE
DATE { 20

BY
U PRO
ﬁ?ﬁ?ﬁ% é*‘f!?fgi‘?ﬁ g BUILDING CODE COMPLIANCE OFFICE
FWO-6080 26.000 24.875 71.250 4 ¢ Florida < {bit.6
FWO-5480 22,000 20875 63.250 Buiding Code ;&SQQ’T’*NCE NO. 20 ! rmre h!
FWO-5080 20.000 18.875 59.250 Agcepiance NO_Q.&.QQ__EL,E e
FWO-4180 14.375 13.250 48.000 Expiration Date ()7 C UNIT, ASSEMBLY — IMPACT
FWO—60611 26.000 24.875 71.250 . FWO AP 2 PANEL
FWO-54611 22.000 20.875 63.250 . By 4/ £ 2
FWO-50611 20.000 18,875 58.250 MiamyD .
FWO-41611 | 14375 13.250 48,000 Divislas Andersen Corporation 7
FWO - 6068 26.000 24.875 71.250 Buypor( Minnesota 55003 i
Fo-5488 | 22.999 2057 bt B B B e n
xg:i?gg ‘z?ggg :gg;g 32(2)(5)8 Ds:ft&lmlcs RS Wit THE sm‘é‘:n:cv ENGINCEH M';%ﬁ{,’,?{‘ﬂg:?‘"“ o Tese
ORIT GLASS DAYLIGHT U.NIT . BI 1/17/01 COPYRIGHT ANDERSEN CORPORATION 1998. ALL RIGHTS RESERVED.
DES. DIMENSION OPENING DIMENSION Al 5/5/00 ““M{7;E7 /o1 DRAWING NUMBLR
REVISION
WIDTH DADE ~FWO—-AP - IMPACT
L




